EJEERR

PTM, PTRT

AN LA BB O AR R R

THE51-2404 WEMAERSEITEE 1 53 4
TEL 078 (967) 1481
Faox 078 (2967) 30890

APRRSLUAKBIEOHESZETY,
AEBSIE 2023 £ 4 B 1 B KYUBAWLEY, (ABEXRERALRFICEROMREERELLET,)
HEEXIEBREESITE20. ARRRICEHINTOIRBRUVBABICTITEIXTEL,
EEITUVYRDOEHONI-BEDOHBBRE. ERVNDI-HFHREITEULE TV EEET,
¥ =L, HRERNTH > THEBKRBRICDETELTIE, MBHI DL TTHHAIE T EEEELHY
3
HIARAEROBBIE. RAIMICE, LROEBYEBERINTE T LETH., HEFRZAEZT
HOoTLERBHROCEFB N HoEEICE. MBS LR IS OV TTHHKSE T EEE T,

H N~

G LES LY

— EEMET, BEFEOBREER BRI LETA.

| IBR&ICERRIET, TOKORHY IZHBT IEE81HY T,
3 (KE)FwtTUEHS

Twil  Tut TR

SW SN EE

W EEE

AJ TFov AR

Sp A LA

PK Ny FURIEHATY b

BRIk RARIL R

A OHBEIKICONTIEHIERSREZSE L CT=L, BLESICOWLTEEBLEHLE <ZEL,

AAEIEILHRBRD=HOFELCRBRMEENEDLL EAHBYET .




PTM-PTRT




PTM-PTRT 2
H&E B fin £ BE @ || BE m & fh 4 Byl A&
1 | 3146-11003 | |FY¥H—RT7vd (*xHE) 1 TPTM.
1-1 | 3146-11111 | % | ¥ H—X 1 8 | 3156-22501 T—LATATvL (%) 1
1-2 | 0217-02412 | * |IRTW-24 R+ T4 1 8-1 | 0122-30625 | * M6 X 25 +ZF U {F/RAARILS SWW 2
1-3 | 0311-36901 | * (6901 Z N7 >4 1
1-4 | 3156-11130 | * [12-16-6 HS5— 1 TPTRT]
1-5 | 0311-06901 | * [6901 RF 14" 1 9 | 3354-22300 | [JIL—FN\UFILTYY (xHIE) 1
1-6 | 3146-11121 | * |[E=A4> ¥ 1 9-1 | 3354-22310 | * | L—F/\UK)L 1
1-7 | 0211-01210 | % |S-12 RF v T4 1 9-2 | 3354-22320 | * | L—TN\URILFryT 1
1-8 | 3146-11160 | * | AR Ly 1 9-3 | 0111-40530 | * |M5X 30 X% W 4
1-9 | 0311-06001 | * [6001 RF7 14" 1 9-4 | 0161-00540 | * M5 Fwk 4
1-10 | 3146-11130 | * [12-16-9 HS5— 1 9-5 | 3129-22121 BYITLNAVH 1
1-11 | 0311-26001 | *|6001-2NS X714 1
1-12 | 0212-02812 | % |R-28 RFw Y4 1 [PTRT]
1-13 | 3143-11180 | % |FYR TS5 1 10-1 3191-22411 | |RAYkILL/N— (T) L=1100 1
1-14 | 0122-30625 | * |[M6 X 25 +=FI{FRAMRILE SWW 1 10-2| 3124-55110 | |RAYRILITAY 72 %1100 1
1-15 | 3341-11211 | * | AZLE 1 10-3| 3191-27320 | |aALS—hFa—T @7%x900 | 1
1-16 | 3112-11221 | % | AWZ £ E 1 10-4 | 3394-31210 | |#EW/AUF 2x80 2 1
1-17 | 3156-11231 | *|M8x 22 ZEHRJLk SWW 1
1-18 | 0111-10510 | * [M5x 10 R%')2 SW 1 TPTRT]
11-1| 3347-22210 | |Uv45)w7 1
11-2| 3347-22320 | |F')wT/NUK 2
2-1 | 3156-21110 | |AAS2/84 T 24 x 11400 1
TPTM]
2-2 | 3171-22111 EFRZAF 1 12 | 3117-93301 BEEMHLEH/S—  (xEID 1
2-3 | 3143-22211 g7 1 12-1| 3117-93330 | * |M5x 25 #yEL T A5 1
2-4 | 0161-00880 | |M8x8 F bk 1
2-5 | 3129-22121 BYTLNVH 1
2-6 | 0181-00512 | |M5X12 ADSUTAYELS AH)a 1 13 | 3353-93202 | | €IT4FL—hr7vd (xHIE) 1
13-1| 3353-93212 | * | 2 7T14FL—hk 1
PTM] 13-2| 3347-93232 | * | I7F4TL—FH KL 1
3 | 3189-23001 LAA—NURLaVTEE (5E) (ARE) | 1 13-3| 0122-30616 | * |M6 x 16 +F7UFRARILE SWW 2
3189-22001 |A|L/A—N\UELaVT (xHIE) 1
3-1 | 3189-22111 | | R5AFH 1
3-2 | 3189-22910 | * |\ RILCaA Uk 1
3-3 | 3189-22900 | * |L/A—N\UELTvS (OHE) 1 TR
3-4 | 3355-22334 |O|HY VT 1 3143-91120 | [38mm B O R/SF 1
3-5 O|lLIN—NnUEL 1 3353-91140 | |13mm Ry HRAR/F 1
3-6 | 3355-22342 | * | \URLFvy TS 1 3112-93430 | |E—/N—41X 1
3-7 | 0111-10508 | * |[M5x 8 R41)1 SW 1 3123-91162 | |/8—vL 1
3-8 | 0171-00812 | *|M8 W 1 3123-93411 | |BEEEH/N— 1
3-9 | 3189-22930 | *|DSYV3 M8x30 1 3171-93421 myYdL L=700 1
3-10 | 0161-00865 | * M8 Fvk 1 3123-93451 | |T—4J )L (AHREALD) 1
3-11 | 3189-22940 | x| fdz&) 4 1 3112-92331 1014>F FyTU— 1
3-12| 0111-10510 | * [M5x 10 X&) SW 1 3121-99110 | | EHFEANILHEIKERAE 1
3189-27320 | | —hFa—T L=100 1
TPTM]
4-1 | 3124-22412 | A| ROYRJLLA—M)  L=1280 1
4-2 | 3124-55111 | A| ROV LD A¥ 72 x 1280 1 IRV
4-3 | 3124-27320 | A|A)LS —bFa1—T ¢ 7 %1000 1 3202-94100 | |[BXBZSX)L 1
4-4 | 3394-31210 | A[fE5R/UF 2x80 2 2 3911-94001 | EESANIL 1
4-5 | 3355-31210 | A|a—F/\UF 1 3341-94150 | |ER{FIFIES—IL 1
5 |3181-24101 | |AYF—/4TT7vd L=1381 1
6 |3173-31000 | [Dv/\TF7vd  (xEIf) 1
6-1 | 0122-00525 | * M5 x 25 +F7fF /R FARIL+ 1
6-2 | 0162-00555 | * M5 75 F vk 1
6-3 | 3119-31214 | |TA4X¥H5 T (858 2
7 | 3125-25100 | |JLFIvTRTvd ¢7 %2236 1




